Dev Cost (matrix wavefront) Dev Cost (graph traversal)

1400 - 5000 -
1200 -
4000 -
1000 -
&) o)
A | 07 3000 A
A 800 A
o wr
600 1 2000 -
400 -
1000 -
200 -
0 0
OpenMP TBB Cpp-Taskflow seq OpenMP TBB Cpp-Taskflow seq
Runtime (matrix wavefront) Runtime (graph traversal)
80001 —— OpenMP 20001 —— QOpenMP
—+— TBB —+— TBB
gmoo_ —»— Cpp-Taskflow gmo_ —»— Cpp-Taskflow
Q) w
£ £
+ 4000 + 1000 A
- -
2 2
o o
Q2000 S 500
0 0
0 20000 40000 60000 80000 100000 0 20000 40000 60000 80000 100000 120000

partition count (# tasks) graph size (|V|+]|E| ~ # tasks)



